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1. (10pt) A Lithium Ion battery module is rated at 12V/6Ah. Two battery modules in series connection
are discharged by 1C constant current for 30 minutes. Determine the total energy supplied by

batteries.

2. (10pt) The voltage across a load and the current through it are given by v(t)=10+30cos(100t) V and
i (t)=1-2sin(100t) A, respectively. Find:

(1) RMS value of the current. (Spt)

(2) Average power consumption. (5pt)

. (10pt) A three-phase transmission line has an impedance of 4+2jC2 per phase. It supplies a load of
1MVA at 0.75 power factor lagging. If load voltage is 4200V, find power loss in the transmission line
and source voltage.
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4. (10pt) Determine average dc output voltage of a single-phase full-wave rectifier applied by 110V
RMS ac voltage.

5. (10pt)A buck converter is operated with the following parameters: Vg=20V, Vo=10V, L=50uH,
switching frequency 10kHz, output power 20W.
(1) Draw the waveform of inductor current.(5pt)
(2) Draw the waveform of diode voltage. (5pt)

6. (10pt)A four-pole, 60Hz induction motor supplies 15kW to a load at 5% slip. Determine :
(1) Rotor speed.(5pt)
(2) Rotor frequency.(5pt)

7. (20pt) Determine the center frequency and bandwidth of the bandpass filter in the figure 1.
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Figure 1

8. (20pt) For the s-domain circuit in figure 2, determine the transfer function and v, (#) if vs (t)=sin2t.
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